C€ &: Bergstrom

INTEGRALII

POWER

Spanish

Instrucciones de Montaje

Mounting Instructions English

Instructions de Montage French

German

Montageanweisungen

Istruzioni di Montaggio I 'talian

4230 rev.00

AENOR AENOR

EEEEEEE

Automocion

E-

1002597505

1S0 9001




E INTEGRAL POWER 11

Recomendaciones
Para el montaje

* Antes de iniciar el montaje leer las instrucciones vy
seguirlas durante el proceso de instalacion.

* Usar las herramientas adecuadas para cada operacion.

Electricidad

» Desconectar la llave de contacto.
» Desconectar la bateria antes de empezar el montaje.

* Asegurar el conexionado de los componentes
eléctricos, verificando su correcto encaje.

& Atencion

Cualquier modificacion de los sistemas ROPS / FOPS,
como soldar o perforar agujeros en partes estructurales,
afectarala capacidad de ROPS /FOPS para proporcionar
la proteccion requerida. La instalacion de este producto
puede afectar los sistemas ROPS / FOPS.

Pdongase en contacto con su distribuidor autorizado para
verificar la compatibilidad antes de realizar modificaciones
oreparaciones. Delo contrario, puede anular la certificacion
ROPS / FOPS. El fabricante del aire acondicionado de

techo no asume responsabilidad alguna.

& Atencion

Al instalar el equipo de aire acondicionado en el techo
se debe proteger la parte superior de la cabina con un
pafno o manta protectora para evitar posibles arafazos.
Al instalar Integral Power Il en el techo hay que tener
en cuenta que, normalmente, las cabinas que vienen
provistas de escaotilla, tienen una estructura suficiente
para soportar el peso del equipo. Sin embargo, cuando
no ocurra asi y sea necesario realizar corte en el techo
o incluso si en el caso de llevar escotilla el material
no es lo suficientemente resistente (caso de techo de
fibra, plastico, etc...) es el instalador el que debe decidir,
bajo su responsabilidad, sobre la necesidad de reforzar
el techo para evitar posibles deformaciones, roturas,
entradas de agua, etc... habilitando los medios para que
esto no ocurra.

&: Bergstrom

Herramientas

Documentacion relacionada

Instrucciones de montaje 1002597505
Manual del usuario 1002597507
Diagnosis de averias 1002597508
Listado de recambios 1002597506
Documentacion incluida
Garantia 220AA10010
/\ Advertencias

A El personal instalador debe poseer una formacién

suficiente en Aire Acondicionado de vehiculos.

A Bergstrom queda exenta de responsabilidad
si se producen averias que procedan de una
inadecuada manipulacion o instalacion del equipo,
o por modificaciones y sustituciones efectuadas sin

nuestra expresa autorizacion por escrito.

A Equipo precargado con gas refrigerante R-134a. (No

manipular el circuito de gas refrigerante).

AVéase procedimiento de garantia del producto

incluido en Diagnosis de Averias.

A Véase Manual de Usuario del equipo para el correcto
funcionamiento del mando a distancia y del panel de

control.

A Al finalizar la instalacién se debe entregar al usuario:
Manual del Usuario, Garantia y Diagnosis de

averias.




INTEGRAL POWER II

A

Importante: El equipo Integral Power Il esta
dotado con 4 cartelas soldadas en los laterales
de su base para facilitar su alzado seguro
mediante un equipo mecanico de elevacion.

Posicionar el equipo Integral Power Il sobre
el techo, teniendo en cuenta que la posicion
final debe corresponder con el frente
suministrado procurando que quede sobre
superficie plana.

Una vez definida la posicion, quitar la carcasa
y marcar (6) taladros (Y) seguidamente hacer
coincidir los (4) taladros de la plantilla con (4)
taladros traseros del techo (figura 3).

Tener en cuenta la flecha que indica el
sentido de la marcha.

380 mm

&: Bergstrom B

Y T 3
E> &
i
I




E INTEGRAL POWER |11 d@ﬂergstmm

3 Marcar los cortes y taladros y proceder a o o
realizarlos (proteger los cantos cortados con a7 (6)
antioxidante).
SENTIDO DE MARCHA
o | ]
Colocar junta cierre, juntas laterales y junta
4 N
frontal en la parte inferior del compacto como

se muestra.

a Junta cierre

Juntas laterales

Junta frontal




INTEGRAL POWER II

Pasar cableado por el traladro (T) realizado en
el techo para ello (figura 1). Colocar Integral
Power (A) con (6) casquillos de 13 mm,
arandelas de goma y (6) tornillos M6/100x40
(B) y tuercas M6/100.

Importante: Asegurar estanqueidad del
conjunto al techo para impedir posibles
entradas de agua.

&: Bergstrom B

LTI,
I dnns

6A

Colocar arandelas de goma para evitar paso
de agua.

Tuerca M6/100

Arandela plana
Arandela goma
Base equipo
Casquillo

—— Techo vehiculo
— Arandela plana

—— Tornillo M6/100




E INTEGRAL POWER |11 I@Bergstmm

Colocar tubos PVC @ 9 x @ 13 suministrados
6B . : . .
en el equipo segun necesidad de longitud.

ﬁ Atencion: Colocar valvulas de drenaje al final
de los tubos de PVC para facilitar el drenaje
de agua.

NV
Valvulas de drenaje

Cableado de conexion a alternador o bajo llave de contacto para
funcionamiento del equipo con motor en marcha

ﬁ Atencion: El cableado se instalara en todos
los vehiculos para que el equipo funcione a
motor arrancado.

7 Colocar cableado de excitacion por el
interior o por el exterior del vehiculo segun
convenga y montar frente con tornillos
roscachapa suministrados. Conectar los
conectores del frente con los del equipo.

P or exterior




INTEGRAL POWER II

Conectar el otro extremo del cableado
suministrado en posicion (+) sélo con motor
arrancado o a través de (+) llave de contacto.

: Bergstrom [

(+) bajo llave o a motor de arranque

Conectar cable de alimentacion superior en la
parte trasera del equipo.

10

Conectar cable de alimentacion inferior (A)
llevandolo a bateria y poner adhesivos de
peligro de union de cableado en lugar visible

(B).

Importante: Al conectar los cableados, dejar
la distancia adecuada, para evitar su rotura
por los movimientos del vehiculo.

Importante: Para la puesta en marcha
consultar el manual de usuario
(1002597507).

® A

Para abatir la
cabino desconector
cableado
In order to fold
down the cab, i
disconnect the wiring




&: Bergstrom

E INTEGRAL POWER II

Esquema eléctrico

oA|1] 1}

"o Ol
elieleg
E Vv 08
S9UOIXBU0D e1qisnd
" !
[] ] O ap o5ua) o
obnylnuao @J | JOpesUspuUOD /
Jopejdog Vol E [op Salopejiusp
oN 8[qisn
g @I N " n d
VOl 0}ejsosald ¥
alqisn ) \y *
E Vol - @
a|qisn4 v - 7 7 u
o] N
" .3 sl € 10s81dwo9d ojNPoOA
R Y ¥
y 18
oleqen E
op 918y 7?9
N
ON ¥ A I ?
ojelyjue z "
J0SUBS . w N o
S ——
g M N
N
S — W "
ouiclplep alle |
Josuag 8 Josaidwon
" einjesadwa}
op I0Susg
COILONBIS anbuelie ap Jojow e
_o;cwo_ o anej ofeq (+) 2 .ﬂ@\a .
3 e 5 =
© Vv 0l 8[qisn
919y
o
o ol 8| .W S
HEEEEEEE
z|z|2a|<|Z2]=
Fzlel>|al<|2]=




INTEGRAL POWER |11 C‘@Bergstmm@ E




m INTEGRAL POWER 11

Assembly
Recommendations

« Before starting assembly, please read instructions and
follow them during installation process.

» Use the adequate tools for each operation.

Electricity

* Disconnect ignition key.
* Disconnect battery before starting assembly.

» Make sure electric components are securely connected,
checking their correct fitting.

A Warning

Any modification to ROPS/FOPS, such as welding or
drilling holes in the structural members for mounting
brackets, will affect the ROPS/FOPS capability to provide
the required protection. Installing this product may affect
ROPS/FOPS systems.

Contact your authorized dealer to check compatibility
before making any modifications or repairs. Failure
to do so may void the ROPS/FOPS certification. The
manufacturer of the roof air conditioner assumes no
liability whatsoever.

A Warning

When installing air conditioning equipment on roof, the
upper cabin part must be protected with a cloth or a
protective blanket to avoid possible scratches. When
installing Integral Power Il on roof, take into account
that, normally, cabins equipped with a hatch have a
strong enough structure to hold equipment weight.
However, if it is not the case and it is necessary to
carry out a cut in the roof or, although it has a hatch, the
material is not resistant enough (if roof is made of fibre,
plastic, etc...), itis the installer who will have to decide,
under his responsibility, if it is necessary to reinforce
the roof to avoid possible deformations, breaks, water
entries, etc., habilitating the means required to stop it

from occurring.

10

&: Bergstrom

User’s guide 1002597507
Troubleshooting 1002597508
Parts list 1002597506
Documentation included
Warranty 220AA10010

A The installing personnel must have a sufficient training

in vehicles air conditioning.

A Bergstrom shall not be responsible for breakdowns
or damages coming from an inadequate handling or
installation of the equipment or from modifications
and substitutions carried out without our express

and written authorisation.

A Unit pre-loaded with refrigerant gas R-134a. (Do not
touch the refrigerant gas circuit).

A Please see product warranty procedure included in

Troubleshooting.

A Please see equipment User’s Guide for its correct
functioning of the remote control and control panel.

A Once installation is finished, the following documents
must be handed over to the user: User’s Guide,
Warranty and Troubleshooting.




INTEGRAL POWER II

A

Important: The Integral Power Il has 4
plates welded to the sides of the base in order
to ensure safe lifting using mechanical lifting
equipment.

Position the Integral Power Il unit on the roof,
taking into account that the final position must
correspond to the front supplied, ensuring it
is on a flat surface.

Once the position is defined, remove the case
and mark (6) boreholes (Y), then align the (4)
template boreholes with the (4) rear boreholes
in the roof (figure 3).

Note the arrow indicating the operation
direction.

380 mm

&: Bergstrom Y

—
-

A
¥ M
\
b
%
b B j
X R
i%
Y g ‘f‘
. R
g 3
—=— i “‘\\
M R
w2 AN
S=Z e :
T zZEaN %
i e ) Vi
! = A

Y T 3
E> &
i
I




m INTEGRAL POWER |11 d@ﬂergstmm

3 Mark and make the cuts and boreholes (protect o o
the sharp edges with anti-oxidant). a7 (6)

I S
LA

OPERATION DIRECTION

4 Position the seal joint, side seals and front
seal inside the compact as shown.

a Seal joint

Side seals

Front seal

12




INTEGRAL POWER |11 C‘@Bergstmm m

5 Pass the cabling through the borehole (T) _-:‘**“ - =
made for this purpose in the roof (figure 1). @g‘.‘ @ %
Position Integral Power Il (A) with (6) 13 mm
pieces of bushing, rubber washers and (6) (i THLHHT I
M6/100x40 screws (B) and nuts M6/100.

illl" I llll

ﬁ Important: Ensure sealtightness between the
unit and the ceiling in order to prevent any
water coming in.

M6/100 nut
6 A Insert rubber washers to prevent water

passage.

Flat washer

Rubber washer

Unit base

Bushing
Vehicle roof
Flat washer

Screw M6/100

13




m INTEGRAL POWER 11

6B

Position @9 x @13 PVC pipes, as supplied, in
the unit in accordance with required length.

A

Caution: Position drainage valves at the end
of the PVC pipes for the water to run off.

&: Bergstrom

’\/’

Drain valve

Connection to alternator cable for unit operation with
the engine running

Caution: The cable will be installed in all
vehicles for the unit to work with the engine
started up.

Position excitation cable on the inside or
outside of the vehicle as appropriate, and
secure the front with the supplied self-tapping
screws. Connect the front connectors with
those of the equipment.

14

On the outside




INTEGRAL POWER II

Connect the other end of the supplied cable in
position (+) only with the engine started up or
through the (+) ignition key.

&: Bergstrom Y

(+) under key or with starter motor

Connect the upper power cable in the rear of
the unit.

Connect the lower power cable (A) to the
battery and place cable joint hazard stickers in
a visible place (B).

Important: When connecting the cables, leave
suitable distance in order to prevent breakage
when the vehicle moves.

Important: Check the wuser manual
(1002597507) before starting up.

15

Para abatir la
cabino desconector
cableado
In order to fold
down the cab, l
disconnect the wiring




&: Bergstrom

m INTEGRAL POWER I

ic wiring

Electr

J18Mo|q
[ebnjLiuan

ON

VOl
asn4

oN

VOl
asn4

Josuss

9Z9vl)-uy

LS ——

]

S —

Josuss lie N
uinjay

4]
o~ 1]
e
Kisneg
E v 08
J8)U8D °snd
4]
m AHV| i SuoNnPaUU0) "
suej /////
Jasuapuo) n
YouMms ainssald ¥ m
@ VOl \.I@I - 1
asn4 e )
N N Jossaidwod ay} Jo
Lt : PO 210
u /0y ¥
R 1]
Kejal i
SHOM W T
. B
A m A
zy N v
N
W
N
N W
4
Y Jossaidwo)
m Josuas
alnjelsodwa]
Jojow Jauels yyum
|0Ju0o 10 Aoy Jopun (+) e =
21u0J99|3 TaT.
8] Ao y
| - Vv 0l 8sn4
Aejoy
e oL HEESHHE
° S EIE-THEEIRE
REIEHEEIEE:
o|lo|X|[G|Z2[>|O0|a
2zle|>|o|<[2]=

16




INTEGRAL POWER |11 C‘@Bergstmm@ m

17




E INTEGRAL POWER 11

Recommendations
Pour le montage

» Avant de commencer le montage de I'appareil, priére de
lire les instructions et de les suivre attentivement.

« Utiliser les outils convenant a chaque opération.

Electricity

* Déconnecter la clé de contact.

* Déconnecter la batterie avant de commencer le
montage.

« Vérifier le cablage des composants électriques et leur
correcte installation.

/\ Attention

Toute modification des systemes ROPS / FOPS, comme
le soudage ou le pergcage de trous dans des pieces
structurales, affectera la capacité de ROPS / FOPS a
fournir la protection requise. Linstallation de ce produit
peut affecter les systtmes ROPS / FOPS.

Contactez votre distributeur agréé pour vérifier la
compatibilité avant d’effectuer des modifications ou des
réparations; dans le cas contraire, vous pouvez annuler
la certification ROPS / FOPS. Le fabricant du systéme
de climatisation de toit n’assume aucune responsabilité.

/\ Attention

Lors de l'installation de I'appareil d’air conditionné sur
le toit, il faudra p rotéger la partie supérieure de la
cabine avec un linge ou une couverture de protection
afin d’éviter les éventuelles égratignures.

Durant l'installation du Integral Power Il, tenir compte
du fait que normalement les cabines pourvues d’écoutille
posséde une structure suffisamment solide pour supporter
le poids de I'appareil. Cependant, si ce n’est pas le cas
et qu’il est nécessaire de découper le toit ou méme si
disposant d’écoutille, la structure n’est pas suffisamment
rigide (si elle était en fibre, plastique, etc.) il appartiendra
a linstallateur de décider s'il faut renforcer le toit pour
éviter toute déformation, rupture ou voie d’'eau, etc., et

prendre les mesures nécessaires a cet effet.

18

&: Bergstrom

Outils

m"i"r{;t"rl]é't'{;r'{s""ci'énl'\'/'l';r'{'téé'é ............................... e

..... Usersgwde1002597507

..... B'i'éaﬁ'éé'iié"Jé"ﬂrgéigrﬁ;;mmm"mm'""""{56"2'56?555""m

..... .L..i.;t.é...ég..r.;é.r.].;r.].é.;s................................“..........i.aé..z.gé.%éaé.........“
Documentation incluse

..... S

/\ Attention

A Linstallateur devra posséder la formation pertinente

en air conditionné sur véhicules.

A Bergstrom ne sera pas responsable des dommages
ou des bris dérivés d'une installation ou d'une
des modifications

manipulation incorrecte ni

réalisées sans autorisation expresse par écrit.

A Equipementpréchargé avecdu gazréfrigérantR-134a.

(Ne pas manipuler le circuit de gaz réfrigérant).

A Voir la procédure de garantie du produit au Diagnostic
de problémes.

AVoir le Guide de I'Usager de lappareil pour le
fonctionnement correcte de la télécommande et du

tableau de commande.

A Les documents suivants devront étre remis a l'usager
une fois l'installation terminée: Guide de l'usager,
Garantie et Diagnostic de problémes.




INTEGRAL POWER II

A

Important : L'équipement Integral Power Il
est muni de 4 goussets soudés sur les cotés de
la base pour assurer un levage en sécurité au
moyen d’'un équipement mécanique de levage.

Situer I'’équipement Integral Power Il sur le
plafond. La position finale doit correspondre
a la partie frontale fournie. Il doit étre placé
sur une surface plate.

Une fois que la position est définie, retirer
la carcasse et marquer (6) trous (Y) et faire
ensuite coincider les (4) trous du patron avec
les (4) trous arriéres du plafond (figure 3).

Tenir compte de la fleche qui indique le
sens de la course.

380 mm

&: Bergstrom

Y T 3
E> &
i
I




E INTEGRAL POWER |11 Q@Bergstmm

3 Marquer les coupes et les trous et les o o
réaliser (protéger les bords coupés avec de @7 (6)
I'antioxydant).

0 B

®
& @ 35

SENS DE LA COURSE

4 Placer le joint d’étanchéité, les joints latéraux
et le joint frontal sur la partie intérieure du
Integral Power comme cela est indiqué.

a Joint étanchéité

Joints latéraux

Joint frontal

20




INTEGRAL POWER II

Passer le cablage a travers le trou (T) réalisé
sur le plafond a cet effet (figure 1). Placer
ensuite 'Integral Power Il (A) avec (6) douilles
de 13 mm, des rondelles en caoutchouc et (6)
vis M6/100x40 (B) et écrous M6/100.

Important : assurer I'étanchéité de 'ensemble
sur le plafond pour éviter de possibles entrées
d’eau.

&: Bergstrom

r || """"" || T
s NN i

6A

Placer les rondelles en caoutchouc pour éviter
le passage de I'eau.

21

Rondelle plate
Rondelle caoutchouc
Base équipement

Douille
Plafond véhicule
Rondelle plate

Vis M6/100




E INTEGRAL POWER |11 I@Bergstmm

6B Placer les tuyaux en PVC @ 9 x @ 13 fournis
dans I'équipement selon le besoin de longueur.

ﬁ Attention: placer les vannes de drainage a la
fin des tuyaux en PVC pour faciliter le drainage
de l'eau.

NV
Vanne de drainage

Cablage de connexion a alternateur pour fonctionnement
équipement avec moteur en marche

ﬁ Attention: le cablage sera installé dans tous
les véhicules pour que I'équipement fonctionne
avec le moteur démarré.

7 Placer le cablage d’excitation a [lintérieur
ou a l'extérieur du véhicule et monter avec
les vis taraudeuses fournies. Connectez les
connecteurs avant avec ceux de I'équipement.

A I'extérieur




INTEGRAL POWER II

Connecter l'autre extrémité du cablage fourni
sur la position (+) uniquement avec le moteur
démarré ou a travers (+) clé de contact.

: Bergstrom [

(+) sous clé ou avec démarreur

Connecter le cable d’alimentation supérieur a
la partie arriére de I'équipement.

Connecter le cable d’alimentation inférieur
(A) en le menant a la batterie et placer des
adhésifs de danger d’'union de céblage sur un
lieu visible (B).

Important: Au moment de connecter les
cablages, prévoir une distance suffisante pour
éviter leur rupture a cause des mouvements
du véhicule.

Important : Pour la mise en marche,
consultez le manuel de [I'usager
(1002597507).

23

O

Para abatir la
cabino desconector
cableado
In order to fold
down the cab, i
disconnect the wiring




&: Bergstrom

m INTEGRAL POWER II

Cablage electrique

I

®

oN

abnyjuao
Inajunog

VOl
s|qisn4

ON

VOl
||qisnd

[obnue

Jnayde)

—

a

ﬂH_Az

Jle,p Inojel N
ap apuog

W
o |11
o PP
susneg
E V08
d[qisn4
@I SUOIXaUU0d
Y W
anuayn 2
INasuapuod
np Inaje|uap
W
] @I n " n ¥
]
1e]S0ssald
d
AL dB 2k b
a|qisn4 v - < |7 u
' W Jnassaldwos np
o B8 m anbiuosos|e a|Npojp
v B/ 4
y - 1B
|leAeu) e
ap siejoy m ???
¥ A I °
A
v N zy
N
W
N N
W W
- Jnassaidwo)
4 alnjesodwa)
ap Jnayden
onblLOLo6Io Jnaliewgp 29Ae
w_gcwo_. N0 910 nos (+) § .m%-\mw- :
0 Ty B=F
8 V0l 8lqisn4
lejoy
[CN =
(0] ol O
S| = .nuu_.U + m m m m
Llo|lolo|l8|IclElS
n|Z||>|o|lS|(O|=
©
z|le|>|o|<|Z2]|=

24




INTEGRAL POWER |11 C‘@Bergstmm@ E

25




E INTEGRAL POWER 11

Empfehlungen
Zur montage

« Vor und wahrend der Montage bitte diese Anweisungen
lesen und beachten.

* Benutzen Sie fir jeden Arbeitsschritt die geeigneten
Werkzeuge.

Elektrizitat

 ZindschlUssel ziehen.
 Vor Montagebeginn Batterie abklemmen.

» Ordnungsgemafien Anschluss und korrekte Installation
der Elektrokomponenten Uberprifen.

/\ Warnhinweise

Jegliche Modifikation bezliglich ROPS/FOPS, wie zum
Beispiel das Schweifen oder das Bohren von Léchern in
tragenden Teilen, beeinflusst die ROPS/FOPS-Kapazitat, den
gewlinschten Schutz bereitzustellen. Die Installation dieses

Produktes kann sich auf die ROPS/FOPS-Systeme auswirken.

Wenden Sie sich an lhren autorisierten Handler, um die

Kompatibilitdit zu Uberprifen, bevor Sie irgendwelche
Modifikationen oder Reparaturen durchfihren. Andernfalls
kann die ROPS/FOPS-Zertifizierung unglltig werden. Der

Hersteller der Dach-Klimaanlage Ubernimmt keinerlei Haftung.

/\ Vorsicht

Wird die Klimaanlage im Kabinendach installiert, muss der
obere Teil der Kabine mit einem Tuch oder einer Decke gegen
eventuelle Kratzer geschitzt werden. Bei der Installation des
Integral Power Il im Kabinendach muss darauf geachtet
werden, dass mit Luke ausgestattete Kabinen eine Uber
eine ausreichend stabile Struktur verfugen, um dem Gewicht
des Gerats Stand zu halten. Sollte das Fahrzeug Uber keine
Luke verfligen und es notwendig sein, das Kabinendach
aufzuschneiden, bzw. sollte die vorhandene Struktur nicht
ausreichend stabil sein (z.B. wenn sie aus Faser, Kunststoff
usw. hergestellt ist), obliegt es dem Installateur zu entscheiden,
ob das Kabinendach zur Vermeidung von Verformungen,
Briichen, undichten Stellen usw. verstarkt werden muss, und

die hierfiir notwendigen Mittel bereit zu stellen.

26

&: Bergstrom

Werkzeuge

Zugehorige Dokumentation

Montageanweisungen 1002597505
Benutzerleitfaden 1002597507
Diagnose bei ausfallen 1002597508
Ersatzteilliste 1002597506
Enthaltene Dokumentation
Garantie 220AA10010
/\ Warnhinweise

ADer Installateur muss im Bereich Fahrzeug-
Klimaanlagen ausreichend geschult sein.

ABergstrom
fur Schaden oder Briche aufgrund einer nicht

Ubernimmt  keine  Verantwortung

ordnungsgemaflen Installation oder Bedienung
des Gerats oder den Austausch von Teilen bzw.
Umbauten, die ohne die erforderliche schriftliche

Genehmigung durchgefihrt wurden.

/\ Mit R-134a

(Kuhlgaskreislauf nicht manipulieren).

Klhlgas vorgekihltes  Gerat

ASiehe Garantieverfahren des Produkts in der
Fehlerdiagnose.

ASiehe Benutzerleitfaden des Gerats fir den
ordnungsgemallen Betrieb der Fernbedienung und
des Bedienfelds.

ADie folgenden Unterlagen missen dem Benutzer

nach der Installation ausgehandigt werden:

Benutzerleitfaden, Garantie und Fehlerdiagnose.




INTEGRAL POWER II

A

Wichtiger Hinweis: Das GeratIntegral Power
Il hat 4 seitlich am Sockel angeschweilte
Lochlaschen, um ein sicheres Anheben mit
einer mechanischen Hebevorrichtung zu
ermaoglichen.

Integral Power Il auf einer ebenen
Flache auf dem Dach positionieren. Dabei
bericksichtigen, dass die endgultige Position
mit der mitgelieferten Front Ubereinstimmen
muss.

Nach Festlegung der Position, das Gehause
abnehmen und (6) Locher (Y) markieren.
Danach die (4) Bohrloécher der Vorlage mit
(4) hinteren Loéchern des Dachs (Abb. 3) in
Ubereinstimmung bringen.

Auf den Pfeil achten, der die Fahrtrichtung
anzeigt.

380 mm

&: Bergstrom 3

T

_—

-
-

T
—
=\

N
—_——== | ‘b\
A S {.\
LS .-,;;;ll )
=== i
NS = == f

17
rk ‘\{{\\

Y
W
1]
)
r/
7

)
£7

-

"
]

g7

/
[
\

ffm

([

R

N
S\

Y T 3
E> &
i
I




E INTEGRAL POWER |11 d@ﬂergstmm

3 Die Schnitte und Bohrlécher markieren o o
und durchfiihren (die Schnittkanten mit @7 (6)
Rostschutzmittel schitzen).

I S
L

FAHRTRICHTUNG

4 Verschlussdichtung, Seitendichtungen
und Frontdichtung auf der Innenseite der
Kompaktanlage wie gezeigt anbringen.

a Verschlussdichtung

Seitendichtungen

Frontdichtung

28




INTEGRAL POWER II

M6/100 anbringen.

5 Kabel durch das hierfiir angefertigte Bohrloch
(T) fahren (Abb. 1). Integral Power Il (A)
mit (6) 13 mm Hulsen, Gummischeiben und
(6) Schrauben M6/100x40 (B) und Muttern

Wassereintritt zu verhindern.

ﬁ Wichtiger Hinweis: Dichtigkeit der Baugruppe
zum Dach hin sicherstellen, um mdglichen

&: Bergstrom 3

e = B

E>

PTERLLLLLLLLLT T
illl" I llll

Wassereintritt anbringen.

GA Gummiunterlegscheiben zur Vermeidung von

29

Mutter M6/100

Flachscheibe
Gummiunterlegscheibe

Geratesockel
Hilse

Fahrzeugdach
Flachscheibe

Schraube M6/100




E INTEGRAL POWER |11 ‘@Bergstmm

Mitgelieferte PVC-Schlauche @ 9 x @ 13 je
6B i
nach Langenbedarf verlegen.

ﬁ Achtung: Drainageventile am Ende der PVC-
Schlauche anbringen, damit das Wasser
ablaufen kann.

NP
Drainageventil

Alternatoranschlussverkabelung fiir den Betrieb des Gerats
bei laufendem Motor

ﬁ Achtung: Die Kabel in allen Fahrzeugen
installieren, damit das Gerat bei laufendem
Motor funktioniert.

7 Erregerkabel von innen oder auflen her
verlegen und Front mit den mitgelieferten
Blechschrauben befestigen. Verbinden Sie die
vorderen Anschlisse mit denen des Gerats.

Von aulen

30




INTEGRAL POWER II

Das andere Ende des mitgelieferten Kabels
in Position (+) nur bei laufendem Motor oder
uber (+) Kontaktschlissel anschlieRen.

: Bergstrom &3

(+) unter der Taste oder mit Anlasser

Oberes Stromkabel an der Hinterseite des
Geréats anschliel3en.

Unteres Stromkabel (A) anschlieRen und zur
Batterie fuhren und Gefahrenaufkleber fir die
Kabelverbindung an einem sichtbaren Ort (B)
anbringen.

Wichtiger Hinweis: Beim Anschluss der
Kabel ausreichenden Abstand lassen, um
deren Bruch durch die Bewegungen des
Fahrzeugs zu vermeiden.

Wichtiger Hinweis: Fiir die Inbetriebnahme,
lesen Sie bitte im Benutzerhandbuch
(1002597507) nach.

31

® A

Para abatir la
cabino desconector
cableado
In order to fold
down the cab, i
disconnect the wiring




&: Bergstrom

E INTEGRAL POWER II

ElektrischeVerkabelung

10SU8sZINYoS)S0.

ase|gablebnyyusz

-

®

oN

VYOl
Buniayoig

ON

VOl

Buniayols

o

I

Jaynjiojesuspuoy|

(=)

o

Vol
Buniayoig

Jayleyosyonig

JE1
zy - 3

o 1]
" ®_ | _M.vw 2y
sleyeg
E v 08
uaBunpuigan Bunisyorg
wnjuaz N
W . g m

o I\ N
2y 98 S8

ERIAE

g 2
siejaisyaquy

/P

18)YoIpIaA
INpowjIuoa|3

v

(= ——

MM

ﬂH_Az

Josuasyn|qy N

Buniana)syiuoie|]

Josse|uy W Japo
ajse] Jap Jajun (+)

zy

JB)YdIpIaA

Js|ynuniesadwa|

o %H

B=*

e oL

8

siejey

v 01 Buniayols

N

= (0]
SI2l el 8lel2ls
S R B A B
nlo|le|lo|Z|O|0|m
N ©
<zlxl>|o|l<|z|=

32




INTEGRAL POWER |11 C‘@Bergstmm@ E

33




I INTEGRAL POWER 11

Suggerimenti
Per il montaggio

* Prima di cominciare il montaggio, leggere attentamente
le istruzioni e rispettarle nel corso dello stesso.

* Usare gli attrezzi pitu adatti ad ogni operazione.

Elettricita

* Scollegare la chiave di contatto.
* Scollegare la batteria prima di cominciare il montaggio.

« Assicurarsidiavereffettuato correttamente l'installazione
e il collegamento dei componenti elettrici.

A Attenzione

Qualsiasi modifica dei sistemi ROPS / FOPS, come
'esecuzione di saldature o perforazioni nelle parti
strutturali, incidera negativamente sulla capacita di tali
sistemi ROPS / FOPS di fornire la protezione richiesta.
L'installazione di questo prodotto puo incidere sui sistemi
ROPS / FOPS.

Rivolgersi al proprio rivenditore di fiducia per verificare la
compatibilita prima di effettuare modifiche o riparazioni.
Altrimenti si potrebbe essere annullata la certificazione
ROPS/FOPS. Il costruttore dell'impianto di aria condizionata

montato sul tettuccio declina ogni responsabilita.

& Attenzione

Quando si installa l'impianto di aria condizionata sul
tettuccio, bisogna proteggere la parte superiore della
cabina con uno straccio o una coperta per evitare
eventuali graffi. Per linstallazione del Integral Power
Il, tenere presente che normalmente le cabine munite di
obld dispongono di una struttura abbastanza solida per
sostenere il peso dell'impianto. Tuttavia, se cosi non fosse
e se fosse necessario tagliare il tettuccio, o se in presenza
di oblo la struttura non fosse abbastanza rigida (se fosse
di fibra, plastica, ecc.), & responsabilita dell’'installatore
decidere se occorre rinforzare il tettuccio per evitare
qualsiasi deformazione, rottura o penetrazione d’acqua,
ecc., prendendo le misure necessarie per evitarlo.

34

&: Bergstrom

Attrezzi

Documenti correlati

o S

..... L

B s

L s
Documentazione allegata

..... S

/\ Avvertenze

A Linstallatore deve essere in possessodellaformazione

necessaria in materia di aria condizionata per veicoli.

A Bergstrom declina ogni responsabilita per danni o
rotture derivanti dall’errata installazione o dall’errato
uso dellimpianto o da sostituzioni o modifiche
effettuate senza la necessaria autorizzazione per

iscritto.

A Dispositivo precaricato con gas refrigerante R-134a.
(Non manomettere il circuito di gas refrigerante).

AVedi la procedura di garanzia del prodotto in
Diagnosi dei problemi.

A Vedi la Guida dell’utente dell’impianto per il corretto
funzionamento del telecomando e del pannello di

controllo.

AI seguenti documenti devono essere consegnati
allutente una volta conclusa linstallazione: Guida

dell’utente, Garanzia e Diagnosi dei problemi.




INTEGRAL POWER II

A

Nota bene: Limpianto Integral Power Il
e dotato di 4 golfari saldati ai lati della base

per agevolarne il sollevamento in sicurezza
mediante un mezzo meccanico.

Posizionare I'impianto Integral Power Il sul
tettuccio, tenendo conto che la posizione

finale deve coincidere con il frontalino in
dotazione facendo in modo che sia livellato
sulla superficie.

Una volta determinata la posizione, rimuovere
l'involucro e segnare i (6) fori (Y) e quindi fare

coincidere i (4) fori della dima con i (4) fori
posteriori del tettuccio (figura 3).

Tenere conto della freccia che indica il
senso di marcia.

380 mm

620 mm

&2 Bergstrom

Y T 3
E> &
i
I




Il INTEGRAL POWER II d@ﬂergstmm

Segnare i tagli e i fori e quindi eseguirli o o
3 g g q g
(proteggere i bordi tagliati con antiossidante). @7 (6)

I S
P

SENSO DI MARCIA

4 Montare la guarnizione di chiusura, le
guarnizioni laterali e quella frontale nella parte
interna, come illustrato nella figura.

a Guarnizione di chiusura

Guarnizioni laterali

C Guarnizione frontale

36




INTEGRAL POWER II ‘@Bﬂrgstmm@

5 Far passare il cablaggio nell’apposito foro _-:‘*“ - s
(T) sul tettuccio (figura 1). Fissare I'Integral @g‘._ @ %
Power Il (A) con (6) boccole da 13 mm, le
rondelle di gomma e (6) viti M6/100x40 (B) e i (i THHLHHT I

dadi M6/100. illl" I ""

ﬁ Nota bene: Verificare la tenuta dell'insieme
sul tettuccio per evitare eventuali infiltrazioni
d’acqua.

Dado M6/100

GA Inserire le rondelle di gomma per evitare
linfiltrazione dell’acqua.

Rondella piana

Rondella di gomma

Base del dispositivo
Boccola

Tettuccio del veicolo
Rondella piana

Vite M6/100

37




IT

INTEGRAL POWER |11 I@Bergstmm

6B

Montare sull'impianto i tubi in PVC @9 x & 13
in dotazione alla lunghezza richiesta.

A

Attenzione: montare valvole di drenaggio alla
fine dei tubi in PVC per agevolare il drenaggio

dellacqua.

!\/!

Valvola drenaggio

Cablaggio di connessione all’alternatore per il
funzionamento dell’impianto con motore acceso

Attenzione: |l cablaggio si deve installare in
tutti i veicoli in cui 'impianto deve funzionare

con il motore acceso.

Far passare il cablaggio d’eccitazione
dall’interno o dall’esterno del veicolo a

seconda della convenienza e montare il
frontalino con le viti per lamiera in dotazione.
Collegare i connettori anteriori con quelli
dell’apparecchiatura.

38

Dall’'esterno




INTEGRAL POWER II

Collegare l'altra estremita del cablaggio in
posizione (+) solo (+) con il motore acceso o
tramite (+) chiave di accensione.

&2 Bergstrom

(+) sotto chiave o con motorino d’avviamento

Collegare il cavo di alimentazione superiore
alla parte posteriore dell'impianto.

10

Collegare il cavo di alimentazione inferiore (A)
portandolo fino alla batteria e applicare in un
posto visibile gli adesivi indicanti il pericolo che
comporta la connessione del cablaggio (B).

Nota bene: Per collegare i cablaggi, lasciare
una distanza adeguata per evitarne la rottura
a causa dei movimenti del veicolo.

Nota bene: Per [l’avviamento, vedi il
Manuale dell’utente (1002597507).

39

OFN

Para abatir la
cabino desconector
cableado
In order to fold
down the cab, i
disconnect the wiring




&: Bergstrom

INTEGRAL POWER II

Cablaggio elettrico

4]
o |11
" @_ | _.m =
elsyeg
E Vv 08
a|igisn
" IUOISSBUUOD IqIsnd
] ¥ W onua)n "
obnyuso @ ) 210)esuapuod
aloje|uap vOolL E |op aJoje|usp
oN aliqisn4
] @I N " n Ll
VOl 0)e)sosald ¥
alqisny A o B ¥
E aliqisn4 w T
u ] N aJossaidwoo
oy LS m 001U0.)8|® OJNPOIA
R 4
y - I8
OJone| e
) Ip 3@y N P99
ON ¥ ’ :
ojebnue v "
2I0SUSS o W N 7
L= —
3 N
| N
S — W "
ouloju Ip eue N |
alosusg al0ssa1dwo)
elniesadwsa)
Ip 8I10SUBS
COIOIBIE OJUSWEBIAAE,P OULIOJOW
iuoipa| uo9 O dABIYD ONOS (+) SN
ojjonuod i
a5 =
Ll V0l allgisnd
Qv
2
[ () ‘ma ol 2
oL e lalelelelB]t
s|ls|8|s|lS|8| 8|8
n|Z|Z[>|mo|O0|<|=
Rlz|x|>|o|<|2]=

40




INTEGRAL POWER II ‘E@Bﬂrgstmm@

41




E INTEGRAL POWER II @BE[QSUUM

42




INTEGRAL POWER |11 C‘@Bergstmm@ E

43




. A

Ed: | 03/12/2019
Md: | 26/10/2020

&: Bergstrom O

Francisco Alonso, 6
28806 Alcala de Henares, Madrid
SPAIN

Contact Phone Fax E-Mail

(S\Zifas Internacional) +34 91 8770510 +34 91 8771158  sales@dirna.bergstrominc.com

Comercial Nacional +34 91 8775841 +34 91 8836321  ventas@dirna.bergstrominc.com

Orders & Deliveries

(Logfstica internacional) +34 91 8775846 +34 91 8771158  export@dirna.bergstrominc.com

Orders & Deliveries

s . +34 91 8775840 +34 91 8836321  comercial@dirna.bergstrominc.com
(Logistica nacional)

Technical Assistance

. +49 511 86679681 +49 511 86679710 technicalassistance@dirna.bergstrominc.com
(Internacional)

Technical Assistance

. +34 91 8775845 +34 91 883 6321  oblanco@dirna.bergstrominc.com
(Nacional)

www.dirna.com

ATENCION: Bergstrom se reserva el derecho de efectuar modificaciones en cualquier momento de los datos
: contenidos en esta publicacién, por razones técnicas o comerciales.
NOTE: For technical and commercial reasons, Bergstrom reserves the right to change the data contained in this
. brochure.
ATTENTION: Bergstrom se réserve le droit d"effectuer a tout moment des modifications des données reprises sur cette
! publication, pour des raisons techniques ou commerciales.

HIWEIS: Bergstrom behélt sich vor, aus technischen oder kaufménnischen Griinden jederzeit Anderungen der

. Angaben dieser Veréffentlichung vorzunehmen.
ATTENZIONE: Bergstrom si riserva il diritto di effettuare modifiche in qualsiasi momento ai dati contenuti in questa

! : pubblicazione, per motivi tecnici o commerciali.




